employing the symbolic notation of Section 3. By Theorem 2, the last member of the above equation is seen to reduce to a β_1 -variate with parameters $\frac{1}{2}(n-p-1)$, $\frac{1}{2}p$, so that (S/S') follows the Beta distribution of the first kind with parameters $\frac{1}{2}(n-p-1)$ and $\frac{1}{2}p$. This result has been obtained by Wilks [4], by deriving expressions for the moments of the distribution of (S/S'). The above is a simple and direct method of establishing the distribution of the statistic (S/S').

From (5.6) it readily follows that (S/S') is equal to $1/(1 + CD_p^2)$, so that the latter is distributed as a β_1 -variate with parameters $\frac{1}{2}(n-p-1)$ and $\frac{1}{2}p$, whence CD_p^2 is a β_2 -variate with parameters $\frac{1}{2}p$ and $\frac{1}{2}(n-p-1)$, leading to the distribution as shown in (5.8).

REFERENCES

- R. C. Bose and S. N. Roy, "The distribution of the Studentised D²-statistic," Sankhyā, Vol. 4 (1938), pp. 19-38.
- [2] C. R. Rao, "On some problems arising out of discrimination with multiple characters," Sankhyā, Vol. 9 (1949), pp. 343-366.
- [3] S. N. Roy, "A note on the distribution of the Studentised D²-statistic," Sankhyā, Vol. 4 (1939), pp. 373-380.
- [4] S. S. Wilks, Mathematical Statistics, Princeton University Press, 1943, pp. 247-250.

ON SOME FUNCTIONS INVOLVING MILL'S RATIO1

BY D. F. BARROW AND A. C. COHEN, JR.

University of Georgia

1. Introduction and Summary. In this note, we prove that, for all (finite) values of h,

(1)
$$\psi(h) = \frac{m_2}{m_1^2} = \frac{1 - h(Z - h)}{(Z - h)^2},$$

is monotonic increasing², that

$$(2) 2m_1^2 - m_2 > 0,$$

and that

$$(3) 1 < \psi(h) < 2,$$

Received 7/14/53, revised 12/30/53.

¹ Sponsored in part by the Office of Ordnance Research, U. S. Army, under contract DA-01-009-ORD-288.

² While this paper was being considered by the referees, the authors learned of a proof by Des Raj [5] which establishes the monotonic property of $\psi(h)$ for negative values of h.

where Z is the reciprocal of Mill's ratio,

(4)
$$Z(h) = e^{-h^2/2} / \int_h^{\infty} e^{-t^2/2} dt,$$

and where m_1 and m_2 are respectively the first and second moments of a singly truncated normal distribution about the point of truncation.

The function $\psi(h)$ arises in connection with maximum likelihood estimation of population parameters from singly truncated normal samples (cf. for example [1] and references cited therein). The inequality (2) arises in connection with three-moment estimates based on samples of the same type (cf. [2] and [3]).

2. Some preliminary results. To prove that $\psi(h)$ is monotonic increasing, it is sufficient to establish that $\psi'(h) > 0$. Differentiating (4) gives

$$(5) Z' = Z(Z-h).$$

Using this result and differentiating (1), we obtain

(6)
$$\psi'(h) = [hZ(Z-h)^2 - 3Z(Z-h) + 2]/(Z-h)^3.$$

For subsequent use, it can be shown (cf. for example Sampford [4]) that

(7)
$$0 < Z' < 1$$
, $\lim_{h \to \infty} Z' = 1$, $\lim_{h \to -\infty} Z' = 0$,

(8)
$$(Z - h) > 0$$
, $\lim_{h \to \infty} (Z - h) = 0$, $\lim_{h \to -\infty} (Z - h) = \infty$,

(9)
$$h(Z-h) < 1$$
, $\lim_{h \to \infty} h(Z-h) = 1$, $\lim_{h \to \infty} h(Z-h) = -\infty$.

3. Proof that $\psi'(h) > 0$. Since from (8), (Z - h) > 0, a sufficient condition that $\psi'(h) > 0$ is that

$$\theta(h) = [hZ(Z-h)^2 - 3Z(Z-h) + 2] > 0.$$

To prove this latter inequality, we first write $\theta(h)$ in the form

(10)
$$\theta(h) = -Z(Z-h)^3 + Z^2(Z-h)^2 - 3Z(Z-h) + 2.$$

Using (7), (8), and (9), it can be shown that $\lim_{h\to\infty}\theta(h)=0$. Therefore to prove $\theta(h)>0$, it would be sufficient though not necessary to show that $\theta'(h)<0$. Using (5), we find

(11)
$$\theta'(h) = -Z(Z-h)^4 - Z^2(Z-h)^3 + 2Z^3(Z-h)^2 - 5Z^2(Z-h) + 3Z$$

Proof that $\theta'(h) < 0$ does not follow readily, so we introduce the auxiliary function

$$g(h) = e^{\omega(h)}\theta(h),$$

where

(13)
$$\omega(h) = -\int_0^h Z(x) \ dx,$$

and thus

$$(14) \qquad \qquad \omega'(h) = -Z(h).$$

Since $e^{\omega(h)} > 0$, a necessary and sufficient condition that $\theta(h) > 0$ is that g(h) > 0. It can be shown that $\lim_{h\to\infty} g(h) = 0$, and consequently to prove $\theta(h) > 0$, it is sufficient to show that g'(h) < 0.

On differentiating (12), we obtain

(15)
$$q'(h) = e^{\omega(h)} [\theta'(h) - Z\theta(h)].$$

Again using the fact that $e^{\omega(h)} > 0$, it follows that g'(h) < 0 if and only if

$$(16) \theta'(h) - Z\theta(h) < 0.$$

From (10) and (11), we have

$$\theta'(h) - Z\theta(h) = -Z(Z - h)^4 + Z^3(Z - h)^2 - 2\dot{Z}^2(Z - h) + Z$$

$$= Z\{[Z(Z - h) - 1]^2 - (Z - h)^4\}$$

$$= Z\{Z(Z - h) - 1 - (Z - h)^2\}\{Z(Z - h) - 1 + (Z - h)^2\},$$

$$= Z\{h(Z - h) - 1\}\{(2Z - h)(Z - h) - 1\}.$$

Sampford (loc. cit.) proved³

(18)
$$(2Z - h)(Z - h) - 1 > 0$$
, for all finite h.

From (4), Z > 0, and from (9), h(Z - h) - 1 < 0. Therefore $\theta'(h) - Z\theta(h) < 0$, and accordingly $\psi'(h) > 0$ for all finite h. With this result, the proof that $\psi(h)$ is monotonic increasing, for all finite h, is complete.

4. Proof that $2m_1^2 - m_2 > 0$. As shown in [1], m_1 and m_2 may be expressed as

(19)
$$m_1 = \sigma[Z - h], \quad m_2 = \sigma^2[1 - h(Z - h)],$$

and it follows that

(20)
$$2m_1^2 - m_2 = \sigma^2[2(Z-h)^2 + h(Z-h) - 1].$$

Since $\sigma^2 > 0$, it is sufficient to demonstrate that the expression within brackets on the right side, above, is positive. After certain simplifications, we obtain

$$[2(Z-h)^{2}+h(Z-h)-1] = [(Z-h)(2Z-2h+h)-1]$$

$$= [(2Z-h)(Z-h)-1] > 0,$$

which is Sampford's inequality (18), and the proof is complete.

5. Proof that $1 < \psi(h) < 2$. From (19), (5), and (7), it follows that $m_2 - m_1^2 = \sigma^2[1 - Z(Z - h)] = \sigma^2(1 - Z') > 0$.

³ This inequality can also be established by employing the multiplier $e^{\omega(h)}$ in a role similar to that in which it appears above.

408 ABSTRACTS

Using this result and inequality (2), which was established in Section 4, we have $m_1^2 < m_2 < 2m_1^2$, and the required result follows immediately on dividing by m_1^2 . We also note that $\lim_{h\to\infty}\psi(h)=1$, and $\lim_{h\to\infty}\psi(h)=2$. Thus no narrower limits can be found. To obtain these limits, we use the result, $\lim_{h\to\infty}Z/h=0$, which follows from $\lim_{h\to\infty}Ze^{h^2/2}=\left[\int_{-\infty}^{\infty}e^{-t^2/2}dt\right]^{-1}=(\sqrt{2\pi})^{-1}$. Thereby we have

$$\lim_{h \to -\infty} \psi(h) = \lim_{h \to -\infty} \frac{1/h^2 - Z/h + 1}{(Z/h - 1)^2} = \frac{0 - 0 + 1}{(0 - 1)^2} = 1,$$

and

$$\lim_{h\to\infty}\psi(h) = \lim_{h\to\infty} \frac{e^{\omega(h)}[1-h(Z-h)]}{e^{\omega(h)}(Z-h)^2}$$

which is indeterminate of the form 0/0 as given. Using L'Hospital's rule and making certain obvious simplifications, we obtain

$$\lim_{h \to \infty} \psi(h) = \lim_{h \to \infty} \frac{-2}{Z(Z-h) - 2} = \frac{-2}{1-2} = 2.$$

REFERENCES

- [1] A. C. Cohen, Jr., "Estimating the mean and variance of normal populations from singly truncated and doubly truncated samples," Ann. Math. Stat., Vol. 21 (1950), pp. 557-569.
- [2] A. C. COHEN, JR., "On estimating the mean and variance of singly truncated normal distributions from the first three sample moments," Ann. Inst. Stat. Math., Vol. 3 (1951), pp. 37-44.
- [3] A. C. Cohen, Jr., "Estimation of parameters in truncated Pearson frequency distributions," Ann. Math. Stat., Vol. 22 (1951), pp. 256-265.
- [4] M. R. Sampford, "Some inequalities on Mill's ratio and related functions," Ann. Math. Stat., Vol. 24 (1953), pp. 130-132.
- [5] DES RAJ, "On estimating the parameters of normal populations from singly truncated samples," Ganita, Vol. 3 (1952), pp. 41-57.

ABSTRACTS OF PAPERS

(Abstracts of papers presented at the Ithaca meeting of the Institute, March 18-20, 1954)

1. Confidence Region Procedures Based on the Logarithm of the Likelihood. Carl R. Ohman, Princeton University.

Let $f(x, \theta_0)$ be a probability function where θ_0 is one of a set of permissible parameter points $\theta = (\theta_1, \dots, \theta_h)$ contained in some subspace of R_h . A sample (x_1, \dots, x_n) of size n is observed and a set of h functions, $\varphi_i = (1/\sqrt{n}) \sum_{i=1}^{i} k_{ij} L_i$, $j = 1, \dots, h < n$, computed, where $L_i = \partial \log f/\partial \theta_i$, $f = \prod_{i=1}^n f(x_i, \theta)$, and the k_{ij} are chosen so that $E(\varphi_i) = 0$, $E(\varphi_i \varphi_j) = \delta_{ij}$. For a given sample, the φ_i are functions of θ , and $(\varphi_1(\theta), \dots, \varphi_h(\theta))$ is a point in the pivotal space $\Phi \subseteq R_h$. If a region W can be constructed in Φ so that $\Pr^{\varphi_i}(\varphi_1, \dots, \varphi_h) \in W$ = α independently of θ_0 , the corresponding region in the parameter